FR 5400 BRACKET @ x:iscaing oraver sies ea saon and o .

Specifications Additional Info
‘\\,ul_ Side Mount & M6 Hex Recess Driver Roundhead and M6 Nylon
Ring Nut

& 250 kg / 550 Ibs.

| zinc plated

Siide Siide Siide
Model Length (inch) Length (mm) 552’"7'“ 552’"8'“ 55r2n9m 553'"0'“
5400/ 5400L 12 304.8 2 sets
5400/ 5400L 14 355.6 2 sets
5400/ 5400L 16 406.2 2 sets
Click on any slide length 5400/ 5400L 18 457.2 2 sets
to navigate to the CAD drawing 5400/ 5400L 20 508.0 2 sats
for that length 5400/ 5400L 22 558.8 2 sets
page gth. 5400/ 5400L 24 609.6 2 sets
5400/ 5400L 26 660.4 2 sets
5400/ 5400L 28 711.2 2 sets
5400/ 5400L 30 762.0 2 sets
5400/ 5400L 32 812.8 2 sets
5400/ 5400L 34 863.6 4 sets
5400/ 5400L 36 914.4 4 sets
5400/ 5400L 38 965.2 2 sets 2 sets
5400/ 5400L 40 1016.0 2 sets 2 sets
5400/ 5400L 42 1066.8 2 sets 1 set 1 set
5400/ 5400L 44 1117.6 2 sets 2 sets
5400/ 5400L 46 1168.4 2 sets 1 set 1 set
5400/ 5400L 48 1219.2 2 sets 2 sets
5400/ 5400L 50 1270.0 3 sets 1 set
5400/ 5400L 52 1320.8 2 sets 1 set 1 set
5400/ 5400L 54 1371.6 1 set 3 sets
5400/ 5400L 56 1422.4 1 set 3 sets
5400/ 5400L 58 1473.2 3 sets 1 set
5400/ 5400L 60 1524.0 1 set 2 sets 1 set




5400.XXX-04.T018

X
MAlIGOPAGE
SCALE 3:4
E ]
2 4 4 4 4 Oo0oo0O 0000 4 J—J
NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL NL
ITEM NO. | PartNo DESCRIPTION 12/QTY. | 14/QTY. | 16/QTY. | 18/QTY. | 20/QTY. | 22/QTY. | 24/QTY. | 26/QTY. | 28/QTY. | 30/QTY. | 32/QTY. | 34/QTY. | 36/QTY. | 38/QTY. | 40/QTY. | 42/QTY. | 44/QTY. | 46/QTY. | 48/QTY. | 50/QTY. | 52/QTY. | 54/QTY. | 56/QTY. | 58/QTY. | 60/QTY.
1 |5527 |305mm LONG BRACKET| 2 2 - - - - 4 2 2 2 2 2 2 3 2 - 1
2 |5529 |559mm LONG BRACKET| - - - - - 2 2 2 2 2 1 2 1 3 3 3 2
3 |5528 |406mm LONG BRACKET| - - 2 2 2 1 1 1
4 |5530 |711mm LONG BRACKET| - - - - - - - - 2 2 2 1 1 2 1 ! 1 1
general tolerances @E‘ DIN ISO 128-30
NOTES: LEFT HAND SLIDE SHOWN INCLUDED HARDWARE PER SET: e e
BRACKET QUANTITY REQUIRED IS PER SET %4{ Mé x 16 BUTTON HEAD SCREW ISO 2768-m < theor. intersection
EACH SET HAS Two BRACKETSr (4) SCREWS AND (4) NUTS 4 M6 HEX LOCK NUT This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))
covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: A2
K
14 X
RECOMMENDED HARDWARE: % [ date | name | (technical requirements Fulterer)
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS 0] drawn [11-09-2019 | _HB i
%) proven[00-00-0000] 00| FR 5400 AND FR 5400L BRACKETS
BRACKET TO DRAWER- Mé OR 1/4 BUTTON HEAD SCREWS 9 Fultercr
© Fulterer AG & CoKG  |drawing number:
% rossusenas uste 1 5400.XXX-04.T018
ind CH-9430 St. Margrethen [replaces version date:

Wednesday, September 11, 2019 348:30 PM bruce



5400.12-04.7T018

BACK =
MAIN PAGE el

=3
| |
S |
SCALE 1:1
=
FRONT OF R
SLIDE VDOC)OC) DODQC}V
ITEMNO.| PartNo DESCRIPTION NL 12/QTY.
1 5527 305mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @g DIN ISO 128-30
15O 2768-m missini; iimen_sions se.e 3D
INCLUDED HARDWARE PER SET: This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1‘;arilo;rlor:i\resiiyriog:l/lc( (UrhG))
RECOMMENDED HARDWARE }4{ M6 X '| 6 BUTTON HEAD SCREW covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: &
- 14
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS 4} M6 HEX LOCK NUT X st roquremens Futern

drawn [10-09-2019 | HB | description:

proven|00-00-0000] 00 | BRACKET LAYOUT FR 5400
AND FR 5400L SLIDES
Fulteraer

Fulterer AG & Co KG | drawing number:

e " 15400.12-04.T018

BRACKET TO DRAWER- Mé OR 1/4 BUTTON HEAD SCREWS

EErREBEREOR

0 00-00-0000| O Fulterer AG
changes date |na. CH-9430 St. Margrethen  [replaces version date:

5
o

Wednesday, September 11, 2019 3:47:12 PM bruce




5400.14-04.T018

BACK |
MAIN PAGE ) Ao

| |
B — |
SCALE 1:1
FRONT OF 3]
SLIDE [ NeJeneNew) C)OC)OC;,—’J
ITEM NO. PartNo DESCRIPTION NL 14/QTY.
1 5527 305mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @6 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: INCZ}IZL;J %EXH]QRB%\?{[A(\)R,E HPEE\SESTC REW :ms ::/:Er::;::mj:;gr:g;:deg‘fg not be mu:ran: ne\therl::r:i:f)sed rl:atg:‘da:)asr:;s‘ ii‘i;:r:ai!om the copyright Act (UrhAG;
- 1:4
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS 41 M6 HEX LOCK NUT 5 4 i rquremens Futeen
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS 2 vl 500001 05| BRAGKET LAYOUT FR 5400
® AND FR 5400L SLIDES
9 Fulterer
% Afgétgeorfr /-}G&(/:: K|G drawing number:
@]o 00-00-0000| 0 Fulterer AG 5400.14-04.7T018
ind. changes date | na. CH-9430 St. Margrethen  [replaces version date:

Wednesday, September 11, 2019 345:36 PM bruce




5400.16-04.7T018

(>=

Blt\CK

A .
MAIN PAGE
, P ¢ dn

—
SCALE 1:1
=
FRONT OF B
SLIDE [ NejesFeRen) 7 7 [ jeReelen)
ITEMNO.| PartNo DESCRIPTION NL 16/QTY.
1 5528 406mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @6 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: 'Nc}a?ﬁngXH]/gRBDUVTﬂgR,E FER S e Rew T e LT T
- 1:4
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS 4) M6 HEX LOCK NUT o Al Eechnical requirements Fulterer
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS g oo oo oo —| BRAGKET LAYOUT FR 5400
@ AND FR 5400L SLIDES
© Fulterer
% /f.gélgebrfr /:G & (/;: K(G drawing number:
@0 00-00-0000| 0 Fulterer AG 5400.16-04.T018
ind. changes date  |na | CH-©430St Margrethen  [replaces version date:

Wednesday, September 11, 2019 34326 PM bruce




5400.18-04.7T018

BI;\GK

0
MAIN PAGE s Th

| —
\
SCALE 1:1
FRONTOF & 1]
SLIDE oo o0O i 7 je=jefeniojen} ’J
ITEMNO.| PartNo DESCRIPTION NL 18/QTY.
1 5528 406mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @6 DIN ISO 128-30

missing dimensions see 3D
= theor. intersection

ISO 2768-m

INCLUDED HARDWARE PER SET:

This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))

RECOMMENDED HARDWARE:

}4; M6 x 16 BUTTON HEAD SCREW o covered according to DIN ISO 16016 s;a\: surface: | material, semi finished parts: \i
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS 4) Mé HEX LOCK NUT <®D _‘ S Z(technical sromonts utere
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS 3 v 0500001 06| BRAGKET LAYOUT FR 5400

[G) AND FR 5400L SLIDES

g Fulterer

% i?;‘é‘:ﬁ' ITG & (/;: K‘G drawing number:

@Jo 00-00-0000] 0 Fulterer AG 5400.18-04.T018

5
2

changes date  |na.| CH-9430St.Margrethen [replaces version date:

Wednesday, September 11, 2019 3:42:02 PM bruce




5400.20-04.T018

BACK , |

0
MAIN PAGE , ( HD

R
SCALE 1:1
FRONT OF 5 1]
SLip — —
ITEM NO. PartNo DESCRIPTION NL 20/QTY.
1 5528 406mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @HE] DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: |NC|21U E'?EEXW%RB%\?{F%'T\IIE EEiSESTCREW ms::/‘Zgr:c’“czl;sin[:‘:::rrjrlgoaqugfg not be mulstfah:j neuner:::cceléseu::;:::asr:::iz:e:r;i:omme copyright Act (u@
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS }4{ Mé HEX LOCK NUT % 1:4 X .
0] [ date [ name | (technical requirements Fulterer)
BRACKET TO DRAWER- Mé OR 1/4 BUTTON HEAD SCREWS 3 vl ar 60051 55| BRAGKET LAYOUT FR 5400
® AND FR 5400L SLIDES
o] Fulterer
© Fulterer AG & CoKG |drawing number:
o e (540020041018
ind changes date  |na.| CH-9430St.Margrethen  [replaces version date:

Wednesday, Septomber 11, 2019 3:39:32 PM bruce




5400.22-04.T018

[>=<

Bl-t\CK

0
MAIN PAGE (H H

=3
7
|
SCALE 1:1
psl
FRONT OF H
SLIDE VCQDOD 7 7 7 DODQD\I
ITEM NO.| PartNo DESCRIPTION NL 22/QTY.
1 5529 559mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @HS DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: 'Nia??fEXHQRB%VTVTgRNE FENDSEREW T e e T
- 14
BRACKET TO CABINET- Mé6 OR 1/4 BUTTON HEAD SCREWS 4) M6 HEX LOCK NUT AR i(technical requirements Fultoren)

drawn [10-09-2019 | HB | description:
proven|00-00-0000] 00 | BRACKET LAYOUT FR 5400

AND FR 5400L SLIDES
Fulterer

Fulterer AG & Co KG | drawing number:

e " 15400.22-04.T018

0 00-00-0000| O Fulterer AG

BRACKET TO DRAWER- Mé OR 1/4 BUTTON HEAD SCREWS

EErREEREOR

changes date |na. CH-9430 St. Margrethen replaces version date:

5
e

Wednesday . September 11, 2019 3:37:54 PM bruce




Bl;\GK

0
MAIN PAGE

00
80
00

T T T
o oo o
ogd © OO o u

FRONTOF &
SLIDE [ eoos

L

NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS

. INCLUDED HARDWARE PER SET:
RECOMMENDED HARDWARE: 4) M6 x 16 BUTTON HEAD SCREW
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS 4) Mé HEX LOCK NUT

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

5400.24-04.T018

——
SCALE 1:1
TEMNO.|  PartNo DESCRIPTION NL 24/QTY.
1 5529 559mm LONG BRACKET 2

general tolerances @6 DIN ISO 128-30
|SO 2768 m missing dimensions see 3D
= theor. intersection
This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))
. covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: A2
14 X
@ ) :
[0) [ date | name | (technical requirements Fulterer)
(h) drawn [10-09-2019| HB ipti
% proven00-00-0000[ 00| BRACKET LAYOUT FR 5400
AND FR 5400L SLIDES
o] Fulterer
% Fulterer AG & CoKG | drawing number:
A-6890 Lustenau / Austria
@10 00-00-0000 0 Fulterer AG 5400.24-04.T018
ind. changes date |na.| CH-9430St Margrethen  [replaces version date:

Wednesday, September 11, 2019 3:36:06 PM bruce



5400.26-04.T018

BI;\GK

0
MAIN PAGE

q
q
q

FRONT OF 5 i
SLIDE Y eeon H

ocoooO

L

NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS

, INCLUDED HARDWARE PER SET:
RECOMMENDED HARDWARE: 4) M6 x 16 BUTTON HEAD SCREW
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS 4) Mé HEX LOCK NUT

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

(>=

ialxjisie

A |
SCALE 1:1
ITEMNO.| PartNo DESCRIPTION NL 26/QTY.
1 5529 559mm LONG BRACKET 2
general tolerances @6 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))
covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: A2
1:4 X

[ date [ name | (technical requirements Fulterer)

drawn [10-09-2019| HB

proven(00-00-0000| 00| BRACKET LAYOUT FR 5400

AND FR 5400L SLIDES
Fulterar

Fulterer AG & CoKG | drawing number:

A-6890 Lustenau / Austria 540026'04T01 8

0 00-00-0000| O Fulterer AG

ECRRELERLEE

5
2

changes date  |na. CH-9430 St. Margrethen replaces version date:

Wednesday, Seplomber 11, 2019 3:34:21 PM bruce




BACK

to
MAIN PAGE

T ¥ \ T v T
o oo oo o
@ oo oo @

FRONT OF
SLIDE

cCoooo

2 S =2 2
coooo

oo o
ocDoo o

80
80
80
Ell

;. ]

NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS

INCLUDED HARDWARE PER SET:
RECOMMENDED HARDWARE: 4) Mé x 16 BUTTON HEAD SCREW
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS 4) M6 HEX LOCK NUT

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

(H

5400.28-04.T018

>

all

N —
SCALE 1:1
ITEM NO.|  PartNo DESCRIPTION NL 28/QTY.
1 5530 711mm LONG BRACKET 2

general tolerances

@] DINISO 128-30

missing dimensions see 3D

ISO 2768-m = theor. intersection
This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))
covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: \ﬂ
14 X
[ date [ name | (technical requirements Fulterer)
drawn [10-09-2019 | HB | description:
proven|00-00-0000[ 00| BRACKET LAYOUT FR 5400

Fulterer

AND FR 5400L SLIDES

Fulterer AG & Co KG

PrRRRERRLEEOER

A-6890 Lustenau / Austria

00-00-0000

o

Fulterer

5
k3

changes

date

na

AG
CH-9430 St. Margrethen

drawing number:

5400.28-04.T018

replaces version date:

Wodnesday, Septomber 11, 2019 3:32:34 PM bruce



5400.30-04.T018

BACK

to
MAIN PAGE

SCALE 1:1
T coom o~ ’ | ceoo ]
FRONT OF B 3]
SLIDE PDODOC) 7 7 7 7 DODODVT—j
ITEM NO. PartNo DESCRIPTION NL 30/QTY.
1 5530 711mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @HE] DIN ISO 128-30
ISO 2768-m missini;t('jjimen.si:)ns se:: 3D
INCLUDED HARDWARE PER SET: This drawing remains our property and may not be multipied neither be disclosed to third parties (§§1.3 arzO;}rLr;:res:Cp;r?g:tAcl(UrhG))
RECOMMENDED HARDWARE: 4) M6 X 16 BUTTON HEAD SCREW covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: [A2]
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS 54{ M6 HEX LOCK NUT 14 x
[ date | name | (technical requirements Fulterer)

drawn [10-09-2019 | HB__| description:
proven|00-00-0000| 00 | BRACKET LAYOUT FR 5400

AND FR 5400L SLIDES
Fulterer

Fulterer AG & CoKG  |drawing number.

‘A-6890 Lustenau / Austria
0 00-00-0000 Fulterer AG 5400.30-04.T018

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

SEoEeEBEEEE

o

5
2

changes date  |na CH-9430 St Margrethen  [replaces version date:

Wednesday, September 11, 2019 3:31:17 PM bruce




5400.32-04.T018

BACK

to
MAIN PAGE
] H P qHD

A |
SCALE 1:1
FRONT OF E 53]
SUDE [ " 7 i —
ITEM NO. PartNo DESCRIPTION NL 32/QTY.
1 5530 711mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @}{3 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: N o R DS CREW T R T
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS }4; M6 HEX LOCK NUT % 1:4 X )
0] [ date | name | (technical requirements Fulterer)
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS 8 a0 50005105 BRACKET LAYOUT FR 5400
® AND FR 5400L SLIDES
o] Fulterer
% :gé;%,t, ,:G & (/:Z K\G drawing number:
@0 00-00-0000] 0 Fulterer AG 5400.32-04.T018
ind. changes date |na.|  CH-9430 St Margrethen [replaces version date:

Wednesday, September 11, 2019 3:29:13 PM bruce




5400.34-04.T018

Bli\oCK
MAIN PAGE alilm

|
A |
SCALE 1:1
FRONT OF 1]
supe” T — ] —
ITEM NO. PartNo DESCRIPTION NL 34/QTY.
1 5527 305mm LONG BRACKET 4
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @*EI DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: N R R S rEwW s oo ey e et e Sy s G515 o e ot A8 1)
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS }4{ Mé HEX LOCK NUT (5 1:4 X i
@© [ date [ name | (technical requirements Fulterer)
BRACKET TO DRAWER- Mé OR 1/4 BUTTON HEAD SCREWS 3 amvlob 356005105 BRAGKET LAYOUT FR 5400
® AND FR 5400L SLIDES
o] Fulterer
% :gg‘;l;i, 1:(3 & 5;: K‘G drawing number:
@0 00-00-0000| 0 Fulterer AG 5400.34-04.T018
ind changes date | na CH-9430 St. Margrethen [ replaces version date




BACK

to
MAIN PAGE

oo o o o

80 §
00
80
80

T
oo / ooo o
oo o oo o oo oo @ o

FRONT OF

[SXoNe)
SLIDE ’ ’
coocoo coooo cocoo coooo

b

NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS

INCLUDED HARDWARE PER SET:
RECOMMENDED HARDWARE: 4) M8 x 16 BUTTON HEAD SCREW
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS 4) Mé HEX LOCK NUT

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

5400.36-04.T018

P 4D

| |
SCALE 1:1
ITEM NO.| PartNo DESCRIPTION NL 36/QTY.
1 5527 305mm LONG BRACKET 4

general tolerances

@)=} DIN IS0 128-30

missing dimensions see 3D

ISO 2768-m = theor. intersection

This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))
© covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: A2
[0) 1:4 X
[0} [ date_ [ name | (technical requirements Fulterer)
[®) drawn [10-09-2019| HB iption:
%) proven|00-00-0000] 00 | BRACKET LAYOUT FR 5400

AND FR 5400L SLIDES
o] Fulterer
% Fulterer AG & CoKG | drawing number:
A-6890 Lustenau / Austria

@0 00-00-0000| 0 Fulterer AG 5400.36-04.T018
ind changes date  |na.| CH-9430StMargrethen  [replaces version date:

Wednesday, Septomber 11, 2019 3:25:18 PM bruce




5400.38-04.T018

Bli\CK

0
MAIN PAGE

(P D

A |
SCALE 1:1
EI'L
FRONT OF =l
T o B B e s at
ITEM NO. PartNo DESCRIPTION NL 38/QTY.
1 5527 305mm LONG BRACKET 2
2 5529 559mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @}{3 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: N e R DS CREW T R T
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS §4; M6 HEX LOCK NUT % 1:4 X )
0] [ date | name | (technical requirements Fulterer)
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS 8 a0 0005105 BRACKET LAYOUT FR 5400
® AND FR 5400L SLIDES
o] Fulterer
% :gé;%,t, ,:G & (/:Z K‘G drawing number:
@0 00-00-0000] 0 Fulterer AG 5400.38-04.T018
ind changes date |na.|  CH-9430 St Margrethen  [replaces version date:

Wednesday, September 11, 2019 3:23.03 PM bruce




5400.40-04.T018

Bl-t\CK

0
MAIN PAGE

P 4D

R
SCALE 1:1
EI'L
FRONT OF =l
e T o] o o |
ITEM NO. PartNo DESCRIPTION NL 40/QTY.
1 5527 305mm LONG BRACKET 2
2 5529 559mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @*EI DIN I1SO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: N e 12 BTN HERD SCREW e N
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS 4) M6 HEX LOCK NUT % 1:4 X .
® [ date [ name | (technical requirements Fulterer)
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS o Soainsaranss o5 | BRAGKET LAYOUT FR 5400
[6] AND FR 5400L SLIDES
© Fulterer
% :zéggir ;}G & (,:: KtG drawing number:
@0 00-00-0000| 0 Fulterer AG 5400.40-04.7018
ind changes date  |na.| CH-9430StMargrethen  [replaces version date:

Wednesday, Septomber 11, 2019 3:21.07 PM bruce



5400.42-04.T018

Bl-t\CK

0
MAIN PAGE

(P D

|
A |
SCALE1:1
FRONT OF £1]
Suoe. T ; ; —
ITEM NO. PartNo DESCRIPTION NL 42/QTY.
1 5527 305mm LONG BRACKET 2
2 5529 559mm LONG BRACKET 1
NOTES: LEFT HAND SLIDE SHOWN 3 5530 711mm LONG BRACKET !
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @}{3 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: N e R DS CREW T R T
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS }4; M6 HEX LOCK NUT % 1:4 X )
0] [ date | name | (technical requirements Fulterer)
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS 8 a0 50005105 BRACKET LAYOUT FR 5400
® AND FR 5400L SLIDES
o] Fulterer
% :gé;%,t, ,:G & (/:Z K\G drawing number:
@0 00-00-0000] 0 Fulterer AG 5400.42-04.T018
ind. changes date |na.| CH-9430St Margrethen  [replaces version date:

Wednesday, Soptember 11, 2019 3:19:18 PM bruce



5400.44-04.T018

BACK | |
MAIN PAGE ﬂE Hﬁ

| |
A |
SCALE 1:1
FRONT OF 3]
supe. T—— .
ITEM NO. PartNo DESCRIPTION NL 44/QTY.
1 5527 305mm LONG BRACKET 2
2 5529 559mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @*EI DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: N e N N DS eREW T R T
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS }4{ Mé HEX LOCK NUT 1:4 x ,
[ date [ name | (technical requirements Fulterer)

drawn [10-09-2019| HB
proven|00-00-0000] 00 | BRACKET LAYOUT FR 5400

AND FR 5400L SLIDES
Fulterer

Fulterer AG & CoKG  |drawing number:

A-6890 Lustenau / Austria 540044'04T01 8

Full

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

o

PrrreRrERROR

0 00-00-0000

Iterer AG
CH-9430 St. Margrethen replaces version date:

changes date | na

5
2

Wodnosday, Septombor 11, 2019 303:23 PM bruce




5400.46-04.T018

BI;\GK

0
MAIN PAGE

P 4D

| |
SCALE 1:1
FRONT OF 1)
S T ] o ; ——
ITEM NO. PartNo DESCRIPTION NL 46/QTY.
1 5527 305mm LONG BRACKET 2
2 5530 711mm LONG BRACKET 1
NOTES: LEFT HAND SLIDE SHOWN 3 5529 559mm LONG BRACKET !
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @HEI DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: N e 12 BTN HERD SCREW T e T
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS (4) Mé HEX LOCK NUT 1:4 X

[ date [ name | (technical requirements Fulterer)

drawn [10-09-2019| HB 1
proven|00-00-0000] 00 | BRACKET LAYOUT FR 5400

AND FR 5400L SLIDES
Fulterer

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

Fulterer AG & CoKG | drawing number:

A-6890 Lustenau / Austria 540046'04To1 8

0 00-00-0000 Fulterer AG

PrrerRrERLeR

o

r
changes date  |na.| CH-9430StMargrethen  [replaces version date:

5
3

Wednesday, Septomber 11, 2019 2:59.08 PM bruce




5400.48-04.T018

BACK - =

0 =
MAIN PAGE s o

7
|
SCALE 1:1
WC)C)C)C) ) \ . ’ DDD; o oo / DDD; Fj:”
FRONT OF 53]
SLIDE cooco0O coooo }—{ coooo 7 coooo }J
ITEM NO. PartNo DESCRIPTION NL 48/QTY.
1 5527 305mm LONG BRACKET 2
2 5530 711mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @‘3 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: 'NCW?AEEXHQRB%VTV{C\)R,E PR S REW e B e
- 1:4
BRACKET TO CABINET- Mé6 OR 1/4 BUTTON HEAD SCREWS 4) Mé HEX LOCK NUT % o E— i(technical requirements Fulterer
BRACKET TO DRAWER- Mé OR 1/4 BUTTON HEAD SCREWS 8 aevmiosc0001 06| BRACKET LAYOUT FR 5400
® AND FR 5400L SLIDES
o] Fulterer
% AF_;,&%,T,:G&(/;: K‘G drawing number:
@0 00-00-0000] 0 Fulterer AG 5400.48-04.T018
ind. changes date |na.| CH-9430 St Margrethen  [replaces version date:

Wednesday . September 11, 2019 2:3242 PM bruce




5400.50-04.T018

MAIN PAGE _— o

SCALE 1:1

00

80

00

o

00 §
00
00
00
00
00
090
80

1o &

80
Q0
80
il
a0

FRONT OF
SLIDE %’“@mm eoos | [oeooe Ny R

]

i

ITEM NO. PartNo DESCRIPTION NL 50/QTY.
1 5527 305mm LONG BRACKET 3
2 5530 711Tmm LONG BRACKET 1
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @6 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: |NC|21U E[?EEXH]IZRB%\'?{[%'EE ﬁEE\SESTCREW Tms:(r:/znrriraecmcznrr;si:;::g:rNeTSy;ngfg not be mu\s(rah:: nelther:S::C(;Iosed::at:;:;asr:: :izhae:r:;i:om the copynghtAcﬂUr?Z‘;g
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS E4g M6 HEX LOCK NUT % 1:4 X .
[0} [ date [ name | (technical requirements Fulterer)
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS @ revenlinar 50051 55| BRAGKET LAYOUT FR 5400
® AND FR 5400L SLIDES
© Fulterer
Cg) :gé;eorﬁ, AGS (,;: kG |drawing number:
@0 0000000 0] Fu;ﬁ::::(} " 5400.50-04.T018
nd changes date  [na CH-9430 St. Margrethen [ replaces version date:




5400.52-04.T018

Bl-t\CK _ T
Y = |
MAIN PAGE
= @ old
== ; |
A ‘
SCALE 1:1
@ ocao Soa o 0o S oo / oo o o
FRONT OF 5 ]

SLIDE "T r“ N "T"L
[=XYa¥Yal o000 O [=XYatYal [=¥JaY-Yal

.

ITEM NO. PartNo DESCRIPTION NL 52/QTY.
1 5528 406mm LONG BRACKET 1
2 5527 305mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN 8 | o0 | 71ImmLONGERACKET !
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @Hﬂ DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: N DD R AR PR S e g BONEO 1S~ | sone | e [rotsomnrenpes o |AZ]
BRACKET TO CABINET- M6 OR 1/4 BUTTON HEAD SCREWS }4{ M6 HEX LOCK NUT 14 x
[ date | name | (technical requirements Fulterer)

drawn [10-09-2019 | HB | description
proven|00-00-0000] 00 | BRACKET LAYOUT FR 5400

AND FR 5400L SLIDES
Fulterer

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

Fulterer AG & CoKG [drawing number:

A-6890 Lustenau / Austria 540052'04T01 8

0 00-00-0000| 0 Fulterer AG

ErREEREERER

changes date |na.| CH-9430St Margrethen  [replaces version date:

Wednesday, September 11, 2019 229:49 PM bruce

5
a




5400.54-04.T018

o |
MAIN PAGE . ) )

|
SCALE 1:1
T T T
o oo oo o o oo / oo o Fjﬂ
o0 O 00 o oo oo O o oo oo o o

FRONTOF & ;
SLIDE oooo cooro T | secen coooo |

]

L

ITEM NO. PartNo DESCRIPTION NL 54/QTY.
1 5529 559mm LONG BRACKET 3
2 5528 406mm LONG BRACKET 1
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @{E‘ DIN ISO 128-30
missing dimensions see 3D
ISO 2768_m = theor. intersection
RECOMMENDED HARDWARE: 'NC}E};’ D R AR R S W e e T Y
- 1:4
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS 41 Mé HEX LOCK NUT 5 4 icl equrements Futeen
BRACKET TO DRAWER- Mé OR 1/4 BUTTON HEAD SCREWS 3 venlosssaonsl 56| BRAGKET LAYOUT FR 5400
® AND FR 5400L SLIDES
% Fulterer
% A'i';‘é';,’f’ /:G & (/;: K|G drawing number:
@]o 00-00-0000| 0 Fulterer AG 5400.54-04.7T018
ind. changes date | na.| CH-9430 St Margrethen  [replaces version date:




5400.56-04.T018

BACK [

0
MAIN PAGE =

SCALE 1:1
T T T
o ocoo ooo o o coo ocoo o
@ oo oo o oo o oo oo @
i)

FRONT OF 2
SLIDE a“mmo ceceo | [ Tooooo mm@r}ﬁ

| 1429.6[56.283]

i

CAUTION: BRACKET EXTENDS BEYOND LENGTH OF SLIDE. ADD ADDITIONAL CLEARNANCE ITEMNO.| PartNo DESCRIPTION NL 56/QTY.
1 5529 559mm LONG BRACKET 3
2 5527 305mm LONG BRACKET 1
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @HE] DIN I1SO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: |NC|;1U [Iz/I\EEXH]/Aé\RB[EJ\ﬁ'AC\)R'\‘E ﬁEESESTCREW This :Zwenrr;raecmcznrr;si:;:cpg‘p;rgg%?fg not be mu:fa\llz(.i nellher:j:a\z(:osed::;:\e\:‘l;i:: ;ii:e:r;::mm the copynghtAcl(U@
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS E4g M6 HEX LOCK NUT % 1:4 X .
T [ date [ name | (technical requirements Fulterer)
BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS 6] a0 0000106 BRACKET LAYOUT FR 5400
® AND FR 5400L SLIDES
9 Fulterer
? ;\Fgelatgeortr AGS ‘/;Z kG |drawing number.
D0 0000000 0] Fuff;fe"fi\s “|5400.56-04.T018
ind. changes date  |na CH-9430 St. Margrethen replaces version date:

Wodnesday, Septomber 11, 2019 2.25.08 PM bruce




5400.58-04.T018

Bl-t\CK

0
MAIN PAGE

[>=<

isl(isie

SCALE 1:1

)
o oo “\

@ oo

oo o o oo
Doo o o oo

T
oo o
oo O

FRONT OF
SLIDE E VDOC)OD 7 7 7 oOoooOo }ﬁj [ VDOC)OC)

L

NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS

INCLUDED HARDWARE PER SET:
4) Mé x 16 BUTTON HEAD SCREW
4) Mé HEX LOCK NUT

RECOMMENDED HARDWARE:
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS

BRACKET TO DRAWER- M6 OR 1/4 BUTTON HEAD SCREWS

ITEMNO.| PartNo DESCRIPTION NL 58/QTY.
1 5530 711Tmm LONG BRACKET 1
2 5529 559mm LONG BRACKET 3
general tolerances @‘3 DIN 1SO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))
covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: A2
1:4 X
[ date | name | (technical requirements Fulterer)

drawn [10-09-2019 | HB

proven|00-00-0000] 00 | BRACKET LAYOUT FR 5400

AND FR 5400L SLIDES
Fulterar

Fulterer AG & Co KG | drawing number:

A-6890 Lustenau / Austria 540058'04T01 8

DSRCRERSSSS

0 00-00-0000| O Fulterer AG

changes date |na. CH-9430 St. Margrethen replaces version date:

5
a

Wednesday, September 11, 2019 2:21:44 PM bruce



5400.60-04.T018

BACK _—% 5
] - |
MAIN PAGE _
| s Kdise:
N |
B
@ SCALE 1:1
® oo \ ) ) ) =888 RSP =] / ) ) S0 o Eﬂ

FRONT OF 7
SLIDE E — DODOOV}ﬂ &{ oo oo ’J

L

ITEM NO. PartNo DESCRIPTION NL 60/QTY. SETS
1 5530 711mm LONG BRACKET 1
2 5529 559mm LONG BRACKET 2
NOTES: LEFT HAND SLIDE SHOWN
BRACKET QUANTITY REQUIRED IS PER SET ° 5528 #06mm LONG BRACKET ‘
EACH SET HAS TWO BRACKETS, (4) SCREWS AND (4) NUTS
general tolerances @6 DIN ISO 128-30
missing dimensions see 3D
ISO 2768-m = theor. intersection
RECOMMENDED HARDWARE: 'Nia?ﬁgffx'*{fg%%ﬁf N T R N Y]
- 1:4
BRACKET TO CABINET- Mé OR 1/4 BUTTON HEAD SCREWS 4} Mé HEX LOCK NUT o % il equrements Fleen
BRACKET TO DRAWER- Mé OR 1/4 BUTTON HEAD SCREWS o T e e R ET LAYOUT FR 5400
g AND FR 5400L SLIDES
© Fulterer
? ,fé‘é%ﬁ' ,:5 & 7;: K‘G drawing number:
20 00-00-0000] 0 ) Fu‘ljtse:j‘/‘\G “r 15400.60-04.T018
ind. changes date  |na. CH-9430 St. Margrethen replaces version date:

Wednesday, Septomber 11, 2019 2:16:51 PM bruce




